[ normalized x? probability |

107t —————————{Enwes 0.7
. . . . . + | Mean
Std Dev

0.6

0.5]

0.4

0.3

0.2

0.1§---

10

Ratio

1.1 H

8 0.9

I S DU DO SO IO : LRI
024 6 8 10 12 14 16 18 20 0 0102030405
X2

m=s== DQM_CKF_XiMinusNOPU_base

== DQM_CKF_XiMinusNOPU_retrainOldFiles125_v2_prelimWPM_epoch0

i

< x2/ndf >
n
ul

o 05 ] ] [ !
S 1.0sE - {{-liH-H-H-41-Hi 1k i &q
x ! 3 ! g
1 -
0.95F - {{-HH-H-H-41{-H} 1t i L
os ! ] i ! :
=3 -2 -1 0 1 2 3

< X2/ ndf >

107 1072

-1
AR(track, jelts)



	Contents
	Page 1


